MNapadelypata :
1. (x+3)% = }’+2)x3+3% =)’ +6x+9
2. (x+3)(x-3) =x*-3"=x"-9
(2x-3)*=
(a-3)* =

w

(x+1)* =
(2a-1)(2a+1)=
. (a#2)? =

(x+1)*=

© 0 N o u »

. (2x-5)° =

10.(4x-3)(4x+30)=

11.(x+20)%=

12.(3x-2)%= (3x)3-3x 23+3x3%+3%= 27x°- 9x*+27x+27
13.(x-1)% =

14.(2x-3)’=

15. (0+2)*=

16 N0 EKTEAEGTOVV 01 TPOCELC:
0) (1) = (3x+2) — x(x-2)(x+2)

B (cty) = y(p)ty) - x(x)
y) (:+2) = 3x(e-1)" + (1) (1) (x-2)

17 No amodeiete TIC 100TNTEG:
i) (at+1)’ = a(a=3)* + Bo—1)*
i) (at+f)’ = a(a-3p)° + p(p-3a)’
i) (1)) = (%) +3x% (xhy) = (2xp)’



